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R 3(ve 5 v 5 v 5 | v 0 |ME: 4 Mz 27 TRI: 8 M-I 27 | 2
TD-1: 26 |TD-1: 27 TD-l: 3 |[TD:l: 6 |[IND: 075 IND: 056 @ IND: 105 IND: 3.15
V-E: 1 |v-E: 0 |[V-E: 0 V-E: 0 | VeE: 1 vel: 11 TDI: 77 TR 92
g 11 4 | v 5 | v 2 | v 3 V-l 1 | M-E: 4 Ml 26 TRI: 92 M-I 26 4
TD-I: 25 [TD-l: 23 [TDI: 20 TD:l: 9 |[IND: 025 IND: 042 IND: 084 IND: 354
VeE: 1 [veEr 1 [veEr 1 |[VveEr 1 V-E: 4 Ve 20 | TDI: 101 | TR: 27
T KR4 & |5 v 5 | vl 5 | v-I: 5 | v-I: 5 M-E: 4 M:I: 21 | TRI: 27 | M- 21 1
TDl: 25 [TD:l: 25 [TD:l: 25 |[TD-1: 26 IND: 1,00 IND: 095 IND: 374 IND: 129

VAE:F-LRBEE M-E:F-LEHEH V-IEABH M-L.EARESH TD-LEAZEH TRILEEAHEEHR M LEAFREGH




EDEESRER TFFERADE

¥R A K £ No.| 1 2 3 4 5 6 TD| TR|B#%
H B A& R FABE O 3 0 3 0] o
- R oA E] 2 | EABE 0 3 3 5 0
0 7 - -
s O3 255 11 2 3 5 | 10| o
Al RS Wzt 25
K OHOA K4 V5 V5 F-ABEE 1 10 | 5 2
VR I S LN B RV HAE 5 5 3 1
£ 7 fiH
A +16|V5 V5 78 25 10| 3 2
[E2] T Wk 11
¥R A K % No.| 1 2 3 4 5 6 TD| TR|B%
A S E s I I VRN O | V5 V5 V5 15 | 7 3
. AR I DA 2 | A 5 V5 2 7 5 1
oA B | 3| e 31 V5 4 o | 8 | 1
mos B A Wz 20
#H FE A& R[4 3 0 3 F-LBEE 0 6 15 0
- ) Kt mEsEL£|[ 5|2 Vs BB 2 7 7 1
1 ” X
s FEOLL6] 2 V5 295 20 7 9 1
Al R A Wk 31
¥R A K % No.| 1 2 3 4 5 6 TD| TR|B#%
T B3| 1| F28% 0 3 V5 2 10 | 11 1
. AR I DA 2 | A 2 0 V5 5 7 1
oA B AR 3 78 18 0 3 3 10| o
mof B K ok 28
K H O/ K| 4]|V5 Vs V5 F-MBE 1 15| 3 3
e | AR 2 fE A 5 3 | 10] 0
B "
T+  IE =] 6 |[V5 V5 75 28 10 5 2
[E2] T ok 18




F-LEBH B AB R BLEAZTH BEAEAREHR
L=l v No. 1 2 3 F-LREAEH EBAREGY REARES B AR S % |IEL
V-E+M-E V-1+M=-1 TD-1+TR-1 TR-1+ M-I
V-E: 0 | V-E: 0 | V-E: 0 VeI 2 TDI: 31 TR 56
= o o ¥ |1 Vi 0 | v 2 | MeE: 2 M-1: 12 TRI: 56 M-1: 12 3
TD-I: 11 |TD-: 20| IND: 000 IND: 017 IND: 055 IND: 467
V-E: 1 V-E: 1 | V-E: 2 Vel 10 TD-: 53 TRl 29
= % fE 211 vi 5 V- 5 | ME: 2 M-I: 12 TRI: 29 M-I 12 1
TD-1: 25 TD-I: 28 | IND: 1.00 IND: 0.83 IND: 1.83 IND: 242
VE: 1 | VeE: 0 V-E: 1 Vel 7 TDl: 49 TR 48
ng. i 3|vie 5 | v o2 M-E: 2 M-I: 97  TRI: 48 M-I 97 2
TD-I: 31 |TDI: 18 IND: 050 IND: 007 IND: 1.02 IND: 0.49

V-E:F—258 M-E: F—LE% V-LE AL M-LEARASE TD-LEAZEE TR-LBME AGEZ2E M1 G A%
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